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Transformations
	1. D
	2. B
	3. C
	4. A
	5. C
	6. B



Coordinate Geometry
	7. A
	8. D
	9. B
	10. B
	11. B
	12. D
	13. C



Equations of Circles
	14. C
	15. D
	16. A
	17. A
	18. C
	19. A
	20. D
	21. B
	22. C



Basics of Geometry
	23. D
	24. A
	25. C
	26. D



Triangles
	27. B
	28. D
	29. C
	30. A
	31. B
	32. B
	33. D
	34. D
	35. A



Quadrilaterals
	36. B
	37. C
	38. C
	39. C
	40. D
	41. B
	42. B
	43. C



Right Triangle Trig
	44. A
	45. A
	46. C
	47. D
	48. B
	49. D
	50. A
	51. A



Similarity
	52. B
	53. D
	54. A
	55. C
	56. B
	57. C
	58. A
	59. C

	60. A
	61. C
	62. B
	63. B
	64. C
	65. A
	66. C
	67. C



Circles
	68. D
	69. B
	70. C
	71. B
	72. C
	73. D

	74. B
	75. B
	76. B
	77. C
	78. D



Volume
	79. D
	80. A
	81. B
	82. C



Probability
	83. C
	84. D
	85. D
	86. C
	87. C
	88. B
	89. B
	90. B
	91. A



Constructions/Geometric Modeling
	92. C
	93. D
	94. A
	95. B
	96. C
	97. B



Constructed Response (Sample Answers)
98. 
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99. 
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100.
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101. 
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Points.

Sample Response

The first part of the formula shows the degree measure of the central angle of the
sector divided by the degree measure of the entire circle. So, it represents the
fraction of the circle that consists of the sector.

The second part of the formula shows pi times the radius squared, which is the area
of the entire circle. So, the product of these two parts represents the fraction of the
area of the circle that is included in the sector.

The fraction in the formula shows the degree measure of the central angle of the
sector divided by the degree measure of the entire circle. So, it represents the
fraction of the circle that consists of the sector.

Student does not produce a correct response or a correct process.
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Points

Sample Response

Use the Pythagorean theorem to find that the length of the third side of the triangle
is 4 inches. The sine of an angle is the ratio of the length of the opposite leg
compared to the length of the hypotenuse. So, the sine of theta is equal to the ratio
of 410 5.

Use the Pythagorean theorem to find that the length of the third side of the triangle
is 4 inches. The sine of an angle is the ratio of the length of the opposite leg
compared to the length of the adjacent leg. So, the sine of theta is equal to the
ratio of 4 t0 3.

‘Student does not produce a correct response or a correct process.
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Awarded

Sample Response

The volume of a rectangular prism is equal to the area of its base times its height, and
the volume of a pyramid s equal to one-third of the area of its base times ts height.
Since the pyramid and the rectangular prism have congruent bases, their bases have
the same area. Since the heights are congruent, they also have the same height. So,
the volume of the pyramid is one-third of the volume of the rectangular prism.

‘The volume of a rectangular prism is equal to the area of its base times its height, and
the volume of a pyramid is equal to one-third times the area of its base times its height.

Student does not produce a correct response of a correct process.
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= Sample Response

When the first card is drawn from the deck, there are 52 cards to choose from.
Because the first card is not replaced, there are only 51 cards to choose from when

2 the second card is drawn. So, the result of picking an ace on the first draw affects
the sample space and, therefore, the probability of picking a 7 on the second draw.
So, the events are not independent.

N The probability of choosing a card and ot replacing it affects the probability of the
second card drawn.

o Student does not produce a correct response or a correct process.





